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( M: When are they going to be ready? (HFXI= 21K ZHIZ7127)
W: They were ready yesterday. (HFXH= Of] Z=H|£I2{012.)

748 0] thst HEBICHR A2ASH SI4S0] 01, SHRIR S USRS WE! AV} HIXIS JHRIL 248 ROl 2 48
0l0F @10] ZEO| EI2{21 HAYZ} OJH0l BIXIS RAST CA| 24N “OIR| FHISILIR? 21 B AHOIOOIK, Dt
@2 AHIEt Sfah. T30 S 4800 21745 Z2HH0L 12| 20, 0f2] RIS B0 S 3 SO0} Tt E1 LA
227 210k ARHS B 37472 B2 CHECLE B7HIS Sl ElOfRt ST B SIS S WS | Slaf HXio] opxie
200f ready'S 201 BIHRI0| F2 ME QF MEIXIS ABHS 0[O}

0| & 7kX| TipS MZI51HAf Solution CZ 513 &, T2, Solution Ci= AF0l|IM A= o] OfL|ok. AT o= 717| &
ofl 0j2] =2|&S 7|iE= XO[X|. J2{L| '01Z AIZZ0A o1EH M 2{o2k= 7Hokraks 2K 51X| oot 5.

— Al o ~

® ORI 2o o3t S 2 chsk S2 0/ & Solution

-

E2lE 0IR A. LR 2 XLt si2ie.

— Solution A. 0|2| 2T EX}. MEix|E S3f 02| 4 FHIE THfBict

S2l= 01 B. ti3h= & SAUXI2 MEXIS 2= =30 ThS 2X2 Eoirt siaie.
— Solution B. ME4X|O] K-WE SH=Ch K-Wat 2} Meix|of| SY4S £0f5h= Toich

E2l= 0l C. stz = E1, MEX| of iRi=t| MEiX| & 7§ Sofl DRISICE 282 MF0l.

— Solution C. 7|7} 0fc! =2(242] Zj0|ct. MEHX|S 21 1 FHojl ofH 2H0| LS| M2ta =2t
Tip 1. Meix|o| 74 22| E oo} Firt. S5, Y=ol S24S WX UL
Tip 2. AHoll F2I31x%. Alxilofl w2} chsto] &gto| eatzict.

\C

2

=718 EEM &=0 5.0

15




GEP 2-gE U

x|

~

Type A
Type AS Sall =2|2S 7|9= H&S O sz 70k 32H0IL B 157H0] MEXIS H&E 4 Q0 dH= 2XIS &7|< of
L7t 2 &ak= thesl 32AIE F= 2 01Y0IXL.
Ex) CH3HS £, 0ixfel 0fx|af 2ol cst efXtel SEo= | 1. ofE M&eIX| i ofH th3IIX| S5t
7H8 HEstAg nEAe. S st KF0IME 2t MR AH tEts [R5

2 that YoM H&-FRIA 561 of.
Oluf, Xtet ofxte] LES IRiol== 3.

@ Your tips surely will give me more time for reading.
OiX7HERloflA 2 of= ES Yei= 4

S7lmyg En
(2 Playing sports is as important as reading books. '
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| ARRS| B2 Ch2 TR Cf2, K| AZEIES SO CiA| B0 5,
(@ If you want, I'll return the books to the library.
. P o
OfRPF R 12 i o) Rl M [
@ I'm planning to donatc my old books to charity. 21001 of S21=x| Tlss}. SRICIIE HEO| ofd M
D2El M2 Aelols ol et FR) i

® 1 forgot the due date of my book review.
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(1) THEHS S, EXte| OFX|2} 2ol ChSt oixlel SEo2 7hd Must g n2A|e.
(D No. You can't study with us.

(@ Okay. T'll do the report by myself.

@ Sure. I'll call you when I'm done.

(@ Yes. I'm pleased to join your team.

(8 Sorry. You have to finish by tomorrow.

(2) thEHS S, ofxtel OFx|} 2ol chet Hxtel SHOR 7k HEst g nEAle.
(D That sounds good for a change.

(2 That was a great romance movie.

(@ Isn't it expensive to watch a movie?

(@ Thave a meeting tonight, so I can't come.

® As you know, I don't like watching movies.

(3) CHEHS S0, EfXtol OFX|2} 2ol chet oixtel SHO 71 HEst 2g n2Ae.
(@ I don't know which booth is better.

(2 Science is a difficult subject to master.

(3 We have many unique booths this year.

(@ 1 think it's more creative than the other.

(8 I'maftaid I'm not qualified to be a judge.
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M: Hello, students. 'm happy to announce that our school fitness room has reopened afier renovation. | announce 22/ch
Everybody's welcome touse the facilities 1o improve your health! But, there are some things you | renovation &4 SAb
should keep in mind in sharing a workout space with others. Always use a towel to wipe down your | By A&
| . improve ZEIAZ[c}
equipment after use. If you're finished using dumbbells, bands, exercise balls, or other equipment, put N
keep in mind ZHAIGICH
them back in place. Otherwise, people may have trouble finding the equipment they need. Also, don'trush | o
others. If someone s using a picce of equipment, wait until he or she takes a break. Lastly, remember not | i, e xjxf2iof
to oceupy a place for too long. Everyone has a right to use the equipment, not just you. I hope you can all | rush X&3ict
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M: When are they going to be ready? (H}X|
W: They were ready yesterday. (HFX|= O{A| ZH|=IUHL.)
QRS Bt UAPHHIXIE 7HRID £42 B[ 2 AR
= &20[0{0FX|. (D=t
3

7HZ 0| CHEIE XRSICHT AZISH= SIS0 QI0]. 5HX|Rt i3}

0[0F. @H0| HEO| =2 X7} 0|X0f| HIXIE ©7H=1 ChA| 2bM "X ZH|E|LI?72}

ARIZEE2L T3] & Ago] 5| E2bklo]. 187 | 2o, 0f2] MEHX|E 21 H3E 6l =010F Ch =1 LM
HHSL7| Sfoll HAI2| ORI
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ol
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+a|x| S0k AIRIS 2 747520 Hia), CIZCL B[RS HEso| Clojat S T Shs
= O} MefX|Z TLAISHE HEolo:
oz Jb7| A

=Y. 2102, Solution C= AT0|A] M= HHHO| OfL|OF. A2
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T 21 S0} OfH 20| LIHSK| 424
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OjL| ZBo|TAF 18]

(1) =S S0, JAte| OFX|a 2ofl Chet ofAte] SEe = 7HS MES s 12A|2.

(D No. You can't study with us.

(@ Okay. I'll do the report by myself.
@ Sure. I'll call you when I'm done.
@ Yes. I'm pleased to join your team.

®) Sorry. You have to finish by tomorrow.

n

(2) =S S, XS] OFX|2} 2ol CHEH EAtel SEHe = 7HY A g N2A|2.

I

(D That sounds good for a change.

(2 That was a great romance movie.

@ Isn't it expensive to watch a movie?

@ T have a meeting tonight, so I can’t come.

®) As you know, I don'’t like watching movies.

(3) =t =11, FAte| oFx|e} 2rofl theh ofAtel SEez 7He MEs s 12A|2.

(D I don’t know which booth is better.

(@ Science is a difficult subject to master.
(@ We have many unique booths this year.
@ 1 think it's more creative than the other.
® I'm afraid I'm not qualified to be a judge.

A p. 76~81
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Type B
(1) @ 2 @ 3 ® 4) @ (5 @ OX©,
(1) ChS &8 AHS E17, Lucy7t BenOllA| & T2 71 XMAESH S T2, SI=HO)

@ Sorry. Your flight is canceled due to bad weather.

Z[SELICE Aol HIHHD EX| o452 HMZ s ZS=AELICH

M7t ZO0LM HIHO| FAE RS L= EO0[0F Lucy7t S8 2{#0[0{0} O &S & 4~ URK|?

(@ Come on. We need to leave for the airport now.

ME2. R2l= SR X|IF FZ Etoliofof.

SUCR K|z ELH0F Sh= EOIL Ben0| Y71 72|12 U= &M & 4= 0L Ot H2| @H0 M| Lucy?t Ben?| £74= FIZF
2

O
|2l RS FFE 4 U0 HIZLIA BARIE-124)7} OH L& BACIE E= TiFH)2tks ZO[ok 23 ZEQ| X E20|M F AZ0| of
o

=
AR HIAI=]7 | thZoll, H0oi= 3 MEHX|= HEZ XIE 4~ U0

(@ That’s okay. They arrived there on time.
oL TS2 T30f| MAIZ0l EAH01.

X 3XIQ1 IE0] MIA|ZtHof =210k AKEl0| L™ o] E 4 Ql04.

@ Welcome. Thank you for flying with us.

HSBILICH 15l FBS 0IZaHFMA ZARRILICH

HIHY 1S RS W AMRI(7)2 U= HEH0[0F 2 TMZ} SILI2| &S LFX|. H0IM 2 F{Sitts T2 Y 2AE0| Retn
of M QUX|? O] ME4X| = OFEL7EXIOF OfFH ZA| efhut 22l E 20| S OfL|7| 200k

(® Never mind. We can meet on Saturday.
LS AZMX] of. 22| YL Uof| 2H 4~ Ao

U0 BHe 4 UOL L{=R Al MX| 2ati= 210]0F. BenO| BHEK| R3HA] DIRtsHSH A0l £ 4 QU= O[]

AE-FH: #3E #HIRH7
XIS7HK| & metk2 shyo(2tH HrH oz Skt HIR7 |of Ciet 00F7|E 5t Qlth= Z HiZ & 4 01,
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[6HA]

She thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the airport right away.

J4d=X
of ettt

= (2 Come on. We need to leave for the airport now.

MISO0| MFEX| 22 121 20| CHA] LOojE 4= ATt AZIBICt J2hM =X

FE017|1E M2 HCHH FE AKE 2XoF. FEE2 @Holo.
[F WIH7(]
@ EM2t= Tiof 20| Glof. YoM 23HK0l, A3

27, o7 [ M= 715 #7A|0]7] tHZ0[0k.
@ X 3Xp7t SIFE[X| fe = 2 OfZ=0i| ZHEf0[OF.
@ HIA7|Z EtX| 42 &=0[of. ATkt @t DFEE IR
® BILIX| Zoh= 20| OfL O

XIOtRt Of MEHXIE X2 & U

AIS0| 22 Ttz 7jof Birfe

Al

= W2 BenOf|A| Lol 10 4

0f. HI=LIA 27} OfL]2} L=

Expressions

W: Lucy and Ben are mother and son. It’s Saturday afternoon, and they're getting ready to drive to the airport
to go to San Francisco. Lucy knows that they should leave earlier than usual since there’s always a lot
of traffic on Saturdays. But, when they’re about to leave, Ben realizes that his suitcase is too heavy. So
he’s now taking time to repack. Lucy is worried that they might miss their flight. Last year on a Saturday
afternoon, she missed her flight because she arrived at the airport 30 minutes late due to a traffic jam. She
thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the

airport right away. In this situation, what would Lucy most likely say to Ben?

9Ot AIO|O|CH EQY @50|11, ISS MIZIAATZ 717 2l 2EIX| x1=
17| Z0l HAECH A 2

202 FHIE 5

3| 24610 Btths 2E Lucy= 21 Uk SHX(2E 230

T 9ick E20 34 DS & ol
3} SU5/24T & 1f Ben AFAIO| O 7H0| LIS ALK 242 THEHECL T2 T 0K A S04 B2 ThAl it

af
11 T} Lucy= AHAIS0| HIEY S SE71EE A6 At 2 EQY 220 IH= S XMS2=
| —

= H

usual ZA

raffic TS

be about to 2 5}245iC}
suitcase 043471t
repack CIA| 21S MICH
miss =X|C}

flight H|8H7|

traffic jam WS XIS

MER|
due to 20|

leave for ~2 S9I5ICH

never mind A3 MX| O}

H EABHA KRALS] BI7 IS ST I RAISO| ME2X| QOB 121 40| CA| 2ofe 4 Ickn W2i3ick T2y
M 4= RHISO0| ZHH2 B8O 710k ST 2 Ben0i| 28l 31 410} Stk 0] A0 Lucyl= Benoi #2kn
US FATP
(5]
ol S&foll 7H=X], BenO| O{EA| AlZtS T1=X[ol| ChEt 20| LIt U0 SHIRE & =7| fleiM= YF201M O HEIX| th2fHo= ot

ZEL|7H20[OF.

*A0f0f st OpX|2p 2T AL EX|H ZHE =

=718 EEM &=0 5.0
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(7) Ct2 &gt S E11, Mike7| SusanOf| 7| 2 L2 718 XEst A5 TEAQ. SI=HO)

(D I'had a great time shopping at the market.
L= AlEolM £86IHM E22 AlZHS ERH0L.

SusanO| MikeOj|A| £Z0| O{IH=X] 2012 W & =~ A= O[O

@ I'wouldn't change my mind if I were you.
LH7F A2t 4242 5K 942 7ok

SusanO| Ot 245 1 2ISt U=0|, MikeZt XRMO|RACHH M2t HHEX| @45 0|2t Z25t= &8s 758 + Q101

@ You can repair your camera at the department store.

A 4| 7H|2HE 2 S0l 1A 4= Ql0d.

Susan®| 7{H|2t7t 0 F &0l A Mike7 t 8iSFH0l| 71H D& 4 QT HeiE o e T2 HHs.

@ You should go to the department store this weekend.
Lf= 0] Z=2tof] H3E0] 2 70 FsH.

0]tH Z=2f0f| Ot 0] =20y EHSIEO|| 710F SiCH= 22 51D Q0. LE= HE ‘this weekend 2H= E510| LI2H ‘this'E ‘next 2 ‘weekend S
‘weekdays 2 HIZE == QICHD Mz 2 X 35K = mo|of.

® I'wish I had gone to the electronics market with you.
LH7F L2 20| TIXIKIE D]l ZiAS T SASHIG| ZHo[oF.

Susan0| TAHIE ﬂH’é*OiI CHAZE=G] 771 7HH2HE 2 WAl A2, Susan0| 21 AFLE MikeOf| 7| Z2AZCIH? MikeZ O RI5HH Gt
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M: Susan and Mike are coworkers. Susan tells Mike about a camera that she’s interested in buying this | coworker &
department store B1S}%

weekend. However, she says that she’s not sure whether she should go to the department store or the
electronics X HIZE

the day before Z'Z0]|

sale Q1

electronics market. The department store is nearby, but tends to be expensive. The electronics market
has good prices, but it takes more than two hours to get there. The day before, Mike had been to the
department store. He saw that they were having a sale on cameras through this weekend. He knows that
the model Susan wants to buy is now cheaper at the department store than the market. Mike wants to

suggest that she buy her camera at the department store. In this situation, what would Mike most

if T were you L7} L{2HH
likely say to Susan? repair 2=2|3}Ct
'=f: Susanit Mike= 21 S20|C}. Susan2 ARAO| OfFH 20| Al 1 2HAS T Q= 7| 2toi| Thal MikeOl|H| 2BHCE 1
NG pwiE —h‘iP‘ 0|| 70k &X| OtL|H HMXIMIZ OhEOl| 7t0F SX| 2HA0| MX| Qh=Ctar St sk 7HAR|t,

=
[
2

HI 0] UCE TXIHIF D2 20| X2 A7 7K 7h= i & AR E A Z2ICH ol Mike= HS1E0l| ZIACK
= HSRH0I A OftH 222t LHLY 7|2} SQl ZHof BALS Sh= A= EUTH 1= Susan0| At 2101 k= (FHH[2}) 220|
SRl (BIXIAIE) DHEECHSRE0IA O MChs 2 21 UCH Mike= 00| 7HH2ES WEEol|A 4 2S Hiekstn
20 BTt 0 4&0l M Mikei= SusanOi|7| R2tn &= SHIETI?

[aH&]
Mike wants to suggest that she buy her camera at the department store.

Mike= JH0l|7| 7HI2HE HSFE0IM 4 2S HM2tsta 2101 BiTt

=@ You should go to the department store this weekend.

Susan0| 71212 Al{i=t] HaHE0IA ALK, BIAPRIZ Of&0] 7bd ALK| T2I5HT Qlof. 22, r 0] Mike7 | SPE01M 7}0(212 M
S 242 2101, 124 Susan0ll | #EHEOIM AH= 20| T ST LT of. ‘this week 2H= B3 5t 20} Bhiof oiZE|oa Het
2 @#olof.

[2E #IH7(]

@ Mike7} AZIS ZICH 2 242 glo}. 51X X2 221 LS & 7} OpLIK].

@ Susan0| 08 11912 5l Q= AZH0| OfL|OF.

@ ‘camera’@} ‘department store 7kX| Tt LtR7 | 201 DH2A QA 4 0] AL HH MEX|Q] @HOl= ‘camera”7} 21 K| 27| THZO0|
X|. SEX|2 ‘repair 2H= K- WS ZUCHH QERI 242 2 4 Q19101

® CHAR AIH SusanO| OFL|2} MikeOE. 12|10 AT MXHIE DfA0| OFL|2} EiSI0[OF.

E7/E 2EM H=r 50 107



Attt

Day 7: & Akt (1) — Helst7|
Day 8: = 7t (2) — 10% Akt
Day 9: &= A4t (3) -

Day 10: CHEHR =&

W T SESt=2t +0301. Old & B S S5 X0k,
0 EHeEloM= B Rt SEHe= T 7{of HEF0A o0] o 7

o

kS
2UX| HEHE 0L iz E5I2 o= = =H0E UR=E2| stdS0| S

ZEO| S 70k Fot RO T S2l SSE US X W= B,
= 2Rl g ng%m B2 ZFOIXIT 0f chst AXIR| 27|

2
2
o
=
r
to
r
0%
40
rH
JOl'

MIEE X Sl {00} SiLte) "*EEE =
AA L BF 2 Q17| Ii20[0F TIIR0| HHo|=2
0= 3719| AHRIOZ LEEM 7|=EE E27IX| 7_(|'




[=]:R5 =]
= At (1) - BElsh| c11.kr/DBJO7 [EINTEL,

STEP 1-7H&
1931z S50/M= OfHA2] ZRIZIZ0.

9.U=tE =1, A X2e 3¢S 1=AR. 3]

@ $120 @ $140 @ $160 @ $180 ® $200

OHo 2 EXi|xl= 700k 3HL 2 Exi|xl= 2 W2 SHS0| E2l=
SHX| 2 AHMEX| dg = U0 &2 StUS T UofolH &l

LS— - AN

S}11 Solution= L0t HIH| I0f 02| R 2HE 202X} E7| TES %95)\1 ot ZX 1I“' 0151}.

%OIXI- EHEf% _/.\_7H01|A1 a0 | SHAISHA| Bl

1. i3IS =1, AP XI2E FHE T2A|2. 4. tHEIE E11, HAPHME 2O KXI0jA| F0{0F & FUS

@ $500 @ $600 @ $700 AR

@ $1,000 ®) $1,200 D18 @ $20 ® $36
@ $40 ® $50

2. i3IS E1, (AP XSS FHE T2

@ $560 ®© $700 ® $1,100 5. CHBIE E11, AP XSS SUE D2,

@ $1,400 ®) $1,540 D99 @ $16 @ $18
@ $20 ® $27

3. i3S E1, XDt XIZE & 2US T2AR.

@ $66 @ $94 ® $120 6. L3S E10, AP XIS & SUS TENL.

@ $148 ® $160 @ $230 ® $235 ® $240
@ $255 ® $270

HE2 HO|X| S Ao 04

LHEE2] ShlS0| B 0l SIS 70F B0| SRt H=F 7I=X] 820t 5. 0| THH0| ELt2 LIH = ZXloM E2 2

ol

* HE2 ARItZ, O, @, OH, OH, @, @H0[0k 624 A& ZHI= =200 WSS o F ChAl 2 0| siEE XIF Hot=H
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4n
rE
=
rir
rn
o
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B | 20/hx?2
S S5/d/s x 2 x 1 -10%

F | 26

22 SHS0] S 22001 BRI} FOIRIR 2 olo}oh £ oI oIl 22 S0 A@?gow SZ Mofsi=
H20jA BINE

0L B2 V12 OfRA 7kl RX1E Bofel sl K501 VDHLIRU St 47 e,
ISOfl HESBHs 2 i 00l SHEIBHE CHE 241 SHLIHLIZ 7Hats 242 0/2] A5t 0f2i2 S0l 2
ok

%

JIECHH O TH|7E QUL O HHO R LIQE=X| QO0IEX}. 25 7ISE HE0(0F. LEZ2 2KIZ HElet 7{0}.

1. The muffins are $2 each, and the apple pies are $4 each. 1.2/e,4/e

2.1t’s 10 dollars more per person. * 2. 101/p

3. 1t's $20 per hour. 3.20/hr

4.1t’s 2 dollars per scoop. 4.2/s

5. They charge $10 per item. 5.104

6. It's 30 dollars for the whole cake or 5 dollars per piece. * 6.30/w, 5/p

7. They're $5 per set for one day. * 7.5/s/d

8. They're two dollars per 100 grams. 8.2/100g

9. It's 30 dollars for an adult and 20 dollars for a child. 9.30/a, 20/c

10. The admission fee is $30 per adult and $15 per child under the age of 12. % 10.30/a, 15/c|12

* HAIE HS0i| cish F5k {2
2H0IM= ‘more’0| ZQaH. Th5] $107} OfL|2E H|wE Sh= 7ok 2Hof ojl g S20| $5ACHH 0] 252 $107t Of
8157} £l= AR S2l= 2A1Hez EHIE 2T oF 5.

6H0f M= ‘whole'0|2h= HHo{7t E24H. 71|0|37<1E.':. ULE HO|LM D= 25 Z2 ER0l| 2T St TAS

O
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= AlAE(2) - 10% AL c11.kr/DBJ0S []4

STEP 1 - 71

Day 70| M= E2|= 0] A0 it Solution AS CHEIOL| =2 £2|= 0[] BO| LSt Solution BE U= 7{0F.

4 Solution B
E2|= 0|8 B. AAO| Ot 2.

S2 T3] ZUOIA 10%S SQISICD 5181 3 B 4 01 SHKIBH 7K TZH 2T LIX| 248 1 £ 4 U= A
AHHOIOF. FHOIHO = 0] Al 2t BEIO[2} A2taH. 27| Fioll 21| HE Bk 7ok M offol U= B 2HIS
Z0j2x

$1005 10% &tQIst 712427 §

O{ZX| X7 O|K| SZXIE HEO Z201= 70F. 0|2[=7| YX|Z Hol|Ct7F K0E0f. 302 & U7 AIRKE & M1 Z0is
ZOJgt H0| U01. YIS Lot siFE=X|7} OfL|2t 2QISH 2ty HOfIXIS FaH0ks.

1. $1502 30% &0l5t 712422 $
2. $2002 15% oI5t 712422 §
3. $3005 25% QIS 7HH=2? §
4.$4005 30% oISt 7122 §
5. $1402 15% &tol5t 712422 §
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OjL| 22 TAF 18]
(1) ti=tE 21, 6APt X2 =

@ $27 @ $30

HS 2L

@835

@ $36 ® $40

(2) =t 211, 6Pt XiZet =

@ $140 @ $180

oHZ DZA|Q.

@ $200

@ $252 ® $280

(3) t=tE =1, WA A l=2e =2

D $500 @ $600

S NENQ.

® $700

@ $1,000 ® $1,200

(4) U=t 21, WA A2 &

@ $66 @ $94

@ $148 ® $160

(5) tetE 21, WAV A2 &

D $144 @ $148

@ $154 ® $160
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) hiE B

OjL| oA 18]

1@ 2 @ CRO, @ @ 5 @
© @ (7 @ ®) @ © @ (10) @

(1) th3i2 £, iR} X1 U D2

@

Expressions

W: Hi, Mr. Gold. You look busy today.
QHIASIMIR. Gold M. 2= ittt HO AU L.
M: Yeah. It's one of those days. How can I help you?
dl. 02 &S 39| olRUIR. O{EA = =2e?
W: I want to have these coats dry-cleaned and my skirt shortened by two inches.
0| ZES2 E2i0|22|dot M AHE= 221X| 20|10 ELICH
M: Okay. How many coats? Each one is $10.
UASLICHL TEJLH HO|R? TE SHHET 102 QLI
W: I've got three coats. And how much is it to shorten a skirt?
MIERILICE 2|1 AHES E0l= A2 Hntx?
M: It costs $5. How many do you have?
SEEYLICH 2 Ho|%?
W: Just one. Oh, I also have to pick up my son’s soccer shoes I dropped off last week.
SF HERULICE Of, X|:H2R01| 2ZE X OFS 2| 713t o7 [oF BiLich
M: Yes, I remember. One pair of shoes, right?
4|, 7|5t UELICH B ZH2|F, SLER?

W: Yeah. I think I still need to pay for the shoes. I forgot to bring my wallet last time.

4l M dzez= 1 MEof thsl 65| (MEHIS) XIZe 227 U= A ZUIK. It XIS 7HHE As WU

HER.
M: Yes, it's $5.
4|, 272 sELICh
W: I see. I'll pay for everything now. Can I use this coupon?
LAELICE XIZ TR XIZSHIELICH 0| FE2S MEE 4 AULIR?
M: Sure. That'll give you 10% off the total price including the shoes.
S20|&. OAS AHE5IH ALS a6t FA| IS0l 10% SIS oM = JSLICE
W: Thank you. Here’s my credit card.
TARILICE 047| J A E7 = LTt

C 10/e x 3
2in S 5x1 -10%
Sh 5x1

[aH&]

dry-clean E210|Z2|d5ICt
shorten (Z0|E) £0|C}
have to 5HOf SIC}

pick up (22! 2213) ATt
drop off (B712) 27|Ct
last time X|=HEHO]|

including 2 8t6HH

It’s one of those days.

=13 =S S/ s5IRUIR.

pay for everything

=RE XS Xl=sict

MB0l 6XI7t ZESLAFEE AFE [ ‘two inches2t1 &5l O] A2 FEO|| 0 XA} LE2CHHA YER2 Z{015010} ot 21K| M AUX|

ZE2L7H 0|0k O] ZH|0lM= Cretis

LO[X| L2404

2|1 Mol 2! AMEE R0tk 2ot e O XEstK| Ret =k & AlEshiri

Skirt'9| SQ} ZAX|L| ‘Sh'2t 1 AMFOZIK|?

OFX|2fofl LiQe S0l et #3i= Q8. ALS =aleh x| FAUolM oIS shEctn
9|5t SH9| 10%E SRsHE CtS I S0l $55 Cishok sk= 7ok
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(9) ti=tE E11, 6P M= 2o 2 HR0IA =00 e SUE 1EA2.

P=HEO)

Expressions

W: Hey, Mark! Have you thought about a present for our parents’ 25th anniversary?
OF, Mark! 22 258l Z=7[EY MZ MZIsHE01?
M: 25th anniversary? When is that?
25HHI 7| E U AMIG?
W: Mark, please! You know how much they care about us. You should care about them, too. It’s this Saturday.
Mark, H|g! £2H0| L2|S 0Lt H2oh=X| L&t HE F2 42t 6l 0] = EQO0|0L
M: Let’s buy the present together. You, Justin and I can each pay one third of the total.
MZ Z0| AFKE HE Justin 12|10 LHZF ZEKF 320 1A LHH &,
W: Okay. Do you have something in mind?
1AL 2= A of?
M: How about a pair of couple’s running shoes? They like to take walks.
7HE 233h= ofu? Alisk= 7 Z0I5HAITOL.
W: They already bought brand new running shoes last week. How about couple’s scarves since winter
is coming?
X|tz=0fl 0]0] M 2S3HE AMNOL. 20| 211 YOL| 75 AT = O{EHTR?
M: Oh, that would be great. Let's find nice ones.
2, ZCh W= 42 Fotx)
W: Okay, I'll check online. [Typing sound, Clicking Sound] Look! I like this striped one. It looks fashionable.
e, 2efelo SRIsHE|. [E0[E A2, 22| A2|] 047 B! L= 0| ERLI7HOIZ0l S01. M 20,
M: I agree. How much are they?
L= T38| 2tel. Zotof?
W: They're $15 each and as an opening promotion, if we buy 2, they give us a 20% off of one of them.
Sttoll 1SE2{ 1 2 AR 27HE Al 1 5 U= 20% RIS 2HE 4 001
M: Great deal! Let’s buy two of them.
Z4|! 5 71 ARXL
W: Okay, I'll give you my share tomorrow. Tell Justin about our decision, too.
LA, L 2 LHY E7|. JustinBHel| = 22| ZHS L2iF.
M: Alright. I'll order them first.

U0, Yet F281|
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Day 13 | \@=EEW c11.kr/DBJ13 (a3

STEP 1 - 71
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Day 15 : QiR I¥) c11kr/DBJ15 Ik

STEP 1 - 714
Day 140{|Af= Solution AZ HiRIOL| 52 Solution BE HIE 7{0F. S2l= 012 BE= 2U&6HK| 242 013]9 #50] LIt

01

& Solution B

- FIE HIL|A M4} MR

SAICHA 2E 20 A2 AR

b

HZ HILIA M4} M

3%

Ct.

O[] 2 A2 74]? 20} 2O}, 2T SA| HE| HILIA M40IA FEIS HOIZ 0K Azt &)

before? £, O}L|0}. FZ! B|L|A M4~= ‘former tennis player' 2t F&45H. 0|2 Solution A7} YLD SHE HEIE ZE2EHE
2 2= l0]. 0[0f| St Solution2 E= HOE HO0| 2/R= 710} SHX[2E 0|74 LS BEASER|? T2hA HIH 77HEH2] X[ Tt

Tl ths =R = O ol et LRE HOISS FRI6HR0]. M, EX1Y THEQ| tids AmEX)

SAR 2T IS -7 o
2018 Upcycling Workshop 19. 25 Orange Tree Day Care Center 18.6€
2018 Youth History Tour 19. 6 Creative Minds Science Club 17. &5
Global Design Conference 18. 5 Community Closet 16. &5
10th Special Lecture 18.9¢ Global in Action 15.98
Science Quiz Olympics 17.9¢ Amazing Art Lovers 4. 25
Art Museum Fair 16. 62 Lovely Cover 13. &5
Summer Camp 15.62
Science Essay Contest 15. &5
Presentation Contest Of| | A2
&2 40] 14. 62
Future Lawyers’ Internship Program 14.9¢
Pacific Language Learning 13.9¢

SAE JIEEE 7 [EKEA) JIEEE

Bonobos OfiH|AISH Megan’s Bite 19. 92
Four-eyed Fish 14. 62 Pine Tree Family Park 17.6&
Tasmanian Tiger 14. 92 Bamboo Pond Restaurant 16. 92
Sausage Tree 4. &5
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Type B
2} MEX|2| EX| ZIE0| ZES R0, 0= OfE HAEX| M2l 2 = =7| ES =20 22X

HEol et ofd 2AI7E A, 2E2 FE ol et 7H0l= et Jh7t OfLE = Tf 2% =23 504

(1) Sausage tree0fl 23 CHS LIRS S0, UR[SHA| R S 25 T2A|Q.

@ HI7H S W2l= RolM = 20
@ @7 20| 57t = mf Tt

=2 20| 0|F0X|H 10t OFEof Eo{EIC.
@ o= A XIS HUAD HS 5 UL

® XINLISS of2S FOILY| 2I3H ZOHS AR

_,_
_—

(2) Maple High School’s Group Presentation Contest0i| 25t CIS LIE2 E11, UX|

QI_I
Ral
52
rr
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ous2 §P01I 2ret Z40[0{0F ettt

(3) 2014 Photography Seminar0f] £45t C+S LIRS S11, URIGHK| = %S 25 T2A.

@ 68 1U2E 68 627IX| E2|= HALO|CE.

@ 100E0| H= LA} LISt T2 20k CHE o F0|C
@ Z|A AR EH|ofl Thgh 2F0| AS Xo|Ch

@ Tatet O|H LS SaHf 0f[2f0] 7+s3ict.

© ARI T St RE = A7FE 4 lrh

(4) Spring Swimming FestivalOf| 255t Lt LIES 10, UX[GHK| $e= A2 B5F T2A|Q.

@) 3€ 2720]| Paradise BeachOf| A E2I
@ Age|7| 20| QCk

@ = 3| &7t AIEE Y 23 2AFE{O|CH
@ +F i3l F=5= FIISICL
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(4) Che2 21, At ohs 22| Mo 2 1Y MEet S 2R

e

Expressions

M: Hello, students. I'm happy to announce that our school fitness room has reopened after renovation.
Everybody’s welcome to use the facilities to improve your health. But, there are some things you
should keep in mind in sharing a workout space with others. Always use a towel to wipe down your
equipment after use. If you're finished using dumbbells, bands, exercise balls, or other equipment, put
them back in place. Otherwise, people may have trouble finding the equipment they need. Also, don’t rush
others. If someone is using a piece of equipment, wait until he or she takes a break. Lastly, remember not
to occupy a place for too long. Everyone has a right to use the equipment, not just you. I hope you can all

respect each other and have a great workout.

B 2HSIMIR, SHY Of21=. 22| Stuo| AAF0| Ha 2 S
TAZ17] 2lol AlES 0I85t= 28 T_OE.”—IEF- J2{LtCHE AlZET 28 37 SR/E 1l B0k E NS0 UAS
LEL 71 EAME = %’8 S-S 0|Esl Hot FHA 2. HE, HE, S E=TE CHARSZACHH Ha Xt2|of =5
AlZ HIZLICE 23X| 2o CHE AlFS0| 2S50| 28 717 = ol 0222 737 Eluich 3 THE AR—IE [
SFX| OFAIZ HIZILICE 2HOF O ARO[ 71715 ARSSID QUCHH, 11 ARZ0| &
2, o X2 UF 224 RX|SHK| Z010f ITh= A 7YoM. H2{ZE 20| OfL2t 2= ARHO| 7|15 ALZE B2t
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2 o BTk 301 2 Ch301 o LHE0| 2EX17H S8t 0k %

S F120| T-S2h= A4i2{0| SUXI2t But0[2k= Q|

announce 2|C}
renovation H4= ZA}t
facility AlAd
improve SEIA|7|C}
keep in mind 4Gt
workout 25

in place H|Xt2|0f|

rush X§=35|CH

take a break SAIS F|5}Ct
occupy XHX[SHC}

right 22|

respect 2&GICH
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Type A
(1) @@ 2)®@® 3)Q®®@ “ O® 5 O®@
6) @@ 7 ® ® @0® © @@ (10) @

(1) thetE =11, 0| A chate] LSt UX[SIX| = A 25 T2EAL.

b @ @
Expressions

M: Ms. Moore, this is where you'll be staying while you're with us.
Moore M|. 07 |7} K32t S7| 1A SO HEA LT
W: Wow! This room looks very nice. @ Can I use the phone on the bedside table?
2! 0] Y2 FL 20t H0[==Q. ETH & EXI0l U= HHE £ £+ USTIR?
M: Sure. Feel free to use it.
E20|X|Q. OFSHZ MMIL.
W: Good to know. ) I like the lamp above the bed on the wall. Itll be useful when I read in bed.
L. Holl 201 U= Tk /ol #H=It oz SLCH Eooll M HS 812 I RE3HI0L.
M: I think it will. @ And I just put the flower-patterned blanket on the bed before you came.

T ZLCh O2|7 QA17| Hofl Y= Hoholl 2RE H2RE H SUK.

W: It's very lovely. @ Oh, look at the mountains in the photo next to the window. They're beautiful.

P o, @, TE FO AR U= A & MR, OFECIAL.
M: They're the mountains behind the town where I grew up.
M7 iz ok Flofl s ML
W: I see. B May I use the computer on the desk?
I FMALQ|0| ZEEE M EIR?
M: Of course. It's connected to the Internet.
SELICH ESo) HZZ|0| UEL
W: Great. I'm lucky to get this room.

ESELICE 0] S M| =|CiL| XM= 20| 222

(e X]]

@O #et7| #3i) & #4|2 EIXt
QO #Hz #EI B #7M

Q@ #olg #Z2FY

@ #m|Ofe #U| 2 HX} #EE H
© #UFH #E0l=
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